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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and totalnumber of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 58 / OSS /1, Set - C on the Answer-Book.

5. (@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer in any

one of the languages list: ow :
English, Hindi, Urdu, jabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri mese,Nepali, Kashmiri, Sanskrit and Sindhi.
You are require dicate the language you have chosen to answer in the box provided in the
Answer-Book. ("

(b)  If youchoo (&b ‘write the answer in the language other than Hindi and English, the responsibility
for any errors/ mistakes in understanding the question will be yours only.
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Note:i)  All questions are compulsory.

ii) Marks allotted to each question are indicated against it.

iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B), (C) and
(D), out of which one is most appropriate. Choose the correct answer among the
four alternatives and write it in your answer-book against the number of the ques-
tion. No extra time is allotted for attempting multiple choice.questions.
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1. The general relationship be&@een price and demand is referred to as the following
type of correlation : gﬁ\ [1]
(A) Positive (§’ (B) Negative
(C) Linear QQ\Q (D) Perfect
HAd aﬁwﬁ%ﬁ%wﬁé&ﬁmﬁﬁmmmm&lm% :
(A) &ATCH®R (B) smutcHR
(C) Y= (D) ui
2. Normative economics deals with : [1]
(A) Whatis? (B) What should be?
(C) What has happened in the past? (D) What is likely to happen in future
TS NLIITET THERT SHETT HLal & ?
(A) wE? (B) = g =Ry ?
(C) ordia & s gamm A ? (D) wifersa © o R < TuTET 37
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3. The measure of Central tendency around which maximum concentration of items

occurs is: [1]
(A) Mean (B) Median
(C) Mode (D) Quartile
T T 1 98 WY Teeht Taw SIeeh JTErd gt 8, T8 R ¢
(A) v (B) wfedrem
(C) =g (D) =gei=

4. Total utility of 8 units is 24 utils and that of 12 units is 30 utils. What is marginal utility
of 12 units? [1]
(A) 1.5 B) 2.5
<) 3 (D) 6

8 ZohTE Sl Fed ST 24 FRew B 3t 12 zoE R 30 g § 1112 zhrd hi Hiwia su=ifi
FR?

(A) L5 (B) 2.5
<€ 3 (D). 6
- N |
5. Markets in mlcroeconon%’si&are classified on the basis of : [1]
N9

(A) Number of ﬁ%@

(B) Differenc@ products produced by different firms
(C) Freedom of entry and exit to firms

(D) Allthe above

T HAITE | FSIRT hl 39 INMUR W Hicha {ohaT ST 2

(A) wHl Fi

(B) faftr wi gro scomfem Seungi # ferfrean

(C) wHl st AT AT ARETEA hl Tad=al

(D) Swies s
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6. The basic economic activity is: [1]

(A) Production (B) Consumption
(C) Capital formation (D) Allthe above
MR 3Mfefer ufshan g 2 -
(A) e (B) swwim
(C) gt Fmim (D) Sm @t
7. Shortrun production function shows the changes in total output when: [1]
(A) Only one input is increased (B) Only two inputs are increased
(C) Only few inputs are increased (D) Allinputs are increased
CYTHTEA ITUTEH Tetd el SedTed § Ui et @ 91a
(A) IR Tk AR  dleg i AC (B) hae € eITdi | g <hi ST |
(C) I FD AWl | Fhg hl AT | (D) |t 1Tl | dig S 9 |
8. Consumption depends upon&, [1]
(A) Saving S’Q\Q (B) Investment
(C) Income \Q‘&\% (D) None of the above
I99RT 38 W AR 2
(A) == o (B) fram
(C) m (D) Sweh | & i3 T
9. Which of the following is primary function of money. [1]
(A) Store of value (B) Measure of value
(C) Transfer of value (D) Standard of deferred payment
et @ & i &1 ge1 1 At w5 27
(A) 93 e (B) 7ea w1 wrah
(C) Ua I TAHTRIT (D) *uf Yam *t
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10.

GNP, equals: [1]
(A) National income

(B) NNP__+ depreciation

(C) National income + depreciation + net Indirect Tax

(D) NNP,_+ net indirect Tax

TR Yod W Tehel TS IeTE $8eh T ¢ ¢

(A) T s

(B) ¥R @ R Hae U 3cUTE + Jedgd

(C) T I + Geag™ + Faa sy =

(D) wem gea W Fae aa saag + Fae siaee w

11. Explain the meaning of correlation. [3]
TG T 372 AHEATS |

12. Giving an example explain I%Qw economic problem arises in an economy due to
'unlimited wants'. K\Q [3]
ISTEOT T AW R @auﬁ%waﬁmm%&ﬁm@ﬁ% |

N
N

13. Index numbers are economic barometers. Explain how? [3]
HeIehich TR AFATTRE B € ? THISY hdl ?

14. Explain how demand for a given good is affected by change in prices of substitute
goods. [3]
Tuzmsy for Rt aeg it A SEeht T e it Hd d ufeda @ @ gt g 2 |

15. Define production possibilities curve. State its two properties. [3]
IS FUTEAT Gk eht TRATST AifTe | 36ht 3t farvreand s« |
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16.

17.

18.

19.

20.

21.

22.

23.

An individual firm under perfect competition is price taker. Explain how [3]

qui ufernfiran # vk srehelt W hima Teliehrer it 8 | TuEsT |

Show that average revenue of a product is also the price of the product. [3]

fommen Fu fort 3care =t sitaa T SER! hiFa W T 2 |

Name three instruments of fiscal policy. [3]
TR Hifd & @7 SueuT S |

Explain store of value function of money [3]
S o Yo d g i qEEse |

Distinguish between closed economy and open economy. [3]
TG NATEEAT 3R et SHfeTawel ¥ He Hifu |

A consumer buys 100 uni a-good at a price of Rs.10 per unit. When price

changes he buys 30 un'%&)&re. Price elasticity of demand is (—) 3. Calculate the new
price. \Q‘Z} [4]
Tek 3Nt 10 &w@mwwaﬁloom@ﬂmélmaﬁmam%?ﬁagm
o ot | witl 2B B e (—) 3 3 | e <P o e iR |

A producer supplies 40 units of a good at price of Rs. 2 per unit. When price
changes to Re 1 per unit how many units will he be willing to supply, if price elasticity
of supply is 1? Calculate [4]

Tk 3cdTeeh 2 &. U gohte W kg ot 40 3RS st @ | e hiva sgetet | &. Tfd 318 8t 9,
@ ag foRall 3hTS doF W1 JR 2N, atQ gid ot hma o 1 81? afiteher it |

Explain 'banker to the government' function of central bank. [4]

Hs T Sk T TIHR T Sl hIE THEATSU |
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24. Calculate Net National Disposable Income.  (Rs crore) [4]
1) GDP at factor cost 300
i)  Indirect Tax 50
i)  Consumption of fixed capital 20
iv)  Subsidy 5
v)  Net current transfers to abroad 10
vi)  Net factor income from abroad -5
fraet Tdia e I o afiteher <RIt ; (S w.)
i) YA AN W TR TRe] 3G 300
i)  ATTA W 50
i)  oTeret YSit ST ST 20
iv)  anfeies wgmEEn 5
i = e A A 10
vi) Taewn @ fFae wreE o -5

25. Distinguish between revenue expenditure.and capital expenditure of government.
Give an example of each. [4]

W%Wmaﬁw\wﬂm@ﬁmw | Sc3ieh <hT Ueh Ush 34TRYUT SITU |

101t cost and implicit cost. Give an example of each. [4]
T 3{eR <[5 | Ucdeh i Ueh Ueh SQTE0T IRTT |

26. Distinguish between
T AT 3R mﬁﬁ@

27. Calculate thlrd quartlle from the marks obtained by 11 students. [6]
75, 25, 85, 43, 62,90,30, 46, 54, 70, 25
11 Frenfoii g s s & q e o e S ;
75, 25, 85, 43, 62, 90, 30, 46, 54, 70, 25

28. Show that two indifference curves cannot intersect each other. Use diagram. [6]

famamsn TR 31 ST oI5k Uk GER 1 & hIE Hehd | T ST S iR |
For blind candidates only in lieu of Q No. 28
FHaet gieedia wlenfan & fote wea wen 28 & TH W

Explain why an indifference curve is (a) downward slopping and (b) convex.

THSU foh Uk ARMM o5k () =t i AR erai 3R (b) Ievdiet o g @ |
IAENAMATIAAm, -~ 1 Contd.....
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29. Given that MPC = (0.80 and investment increases by Rs. 200 crore,

calculate (a) value of multiplier and (b) increase in income. [6]
afg MPC = 0.80 2 3R fawr 200 g &. 518 31 @ @, (F) Uk 1 Je o 3R (T) o= |
gfig w1 uitehet IR |

30. State 3 positional averages. Also state any three properties of arithmetic average.[6]

3 feorfa geeft S JaT3u | SRTTUTdE A71ed ht @i favreand «ft g |

31.

Calculate National income
1) Dividends
i)  Wages and salaries
i) Rent
iv)  Undistributed profits
v)  Employers' contribution to social security
vi)  Corporate Tax
vii) Interest
viii) Depreciation
ix)  Net Current transfers from abroad
x)  Net factor income from abroad
T A 1 URehe R |
i) e
i) A A §<\Q®
i)  femrEn ,§’
iv) o e QQ\Q
v)  freet groamies e s e
vi) fom e
vil) ===
vill)  HedagE
ix) fren @ fae awe g
x) v @ o wrE om

(Rs. crore) [6]

60
450

70

10

50

40

80

8

7

()5
(13 &.)
60

450

70

10

50

40

80

8

7

()5

32. Define supply. Explain how 'prices of other goods' is a determinant of supply of
a good. Give example.

gft <t uftwren i | THegT fR o sRgatt B fima ot awg i afd @ fafe FRE
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